


















6/09Our policy is one of continued research and development. We therefore reserve the right

to amend, without notice, the specifications given in this document.

®®

N/en 5.1.355.10

Valve island VS26M modular

Flow characteristics for pressure
regulator plates

6

5

4

3

2 Regulation of port 1

Regulation of port 2

Regulation of port 4

Regulation of port 2+4

Gauge

Spare part number for gauge: V70534-500

Sandwich plates
Pressure regulator sandwich plates

14 5 4 1 2 3 12

14 5 4 1 2 3 12

14 5 4 1 2 3 12

14 5 4 1 2 3 12

Symbol Model Description

VS2672900-KG10 Regulation of port 1

VS2672900-KG20 Regulation of port 2

Symbol Model Description

VS2672900-KG30 Regulator of port 4

VS2672900-KG40 Regulation of ports 2 and 4

72
,5

27
4,

5

20
2

75

14
9

74
 

39
,5

2

3 6

4 5

Hysteresis

2
0

2,5

bar

2,4

2,2

2,0

1,8

1,6

1,5

3 4 5 6 7 8 9 10

180

qn l / min

p1 = 10 bar

8

6
6,3

5,3

4

2

0 360 540 720 900

bar

Inlet pressure

Start point

O
u

tl
et

 p
re

ss
u

re

Inlet pressure = 8 bar

R
eg

u
la

te
d

 p
re

ss
u

re
 (

b
a

r)



6/09 Our policy is one of continued research and development. We therefore reserve the right

to amend, without notice, the specifications given in this document.
N/en 5.1.355.11

®®
Valve island VS26M modular

Flow characteristics
Dual regulation of exhaust ports 3 and 5

Flow port 1 & 2 and 1 & 4 remains unchanged.
Flow measured at 6 bar inlet, pressure drop 1 bar

Ex
ha

us
t 

fl
ow

 (
po

rt
s 

3 
+

 5
)

7 Flow regulator plate

500
400
300
200
100

1000
900

1200
1100

800
700
600

0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

Number of turns from closed

8 Sandwich plate with additional

pressure port 1

Port 3

Port 5

Sandwich plates
Flow regulator sandwich plate

3 5

Sandwich plate with additional pressure port 1

4 2

5 31 1e

Symbol Model Description

VS2672901-KG00 Flow regulator supplied with

gasket, dual regulation

of exhaust ports 3 and 5

Symbol Model Description

VS2672928-KG00 Sandwich plate with

additional pressure 

port 1 (G 1/4), supplied 

with gasket

VS2672929-KG00 Sandwich plate with

additional pressure

port 1 (NPTF1/4), supplied

with gasket

13
9,

5

13
0

20
,5

 
55

 
7

13
0

55

1 1 20
,5

 

10
,5

13,5 

8



6/09Our policy is one of continued research and development. We therefore reserve the right

to amend, without notice, the specifications given in this document.

®®

N/en 5.1.355.12

Valve island VS26M modular

11

10

9 Single valve shut-off plate

Intermediate supply/exhaust manifold (ISEM)

Blanking plate

Base accessories

4

1

2

Allows individual exchange of valve while valve island is pressurised by port 1.
Flow restricted to max. 800 L/min.

Sandwich plates
Single valve shut-off plate

*1) For use see page 13

Symbol Model Description

VS2672903-KG00 Single valve shut-off plate 

supplied with gasket

Model Description

VS2672902-BG00 Intermediate supply/exhaust manifold (ISEM) port size G1/4 *1)

VS2672902-RG00 Intermediate supply/exhaust manifold (ISEM), port size NPTF1/4 *1)

VS2672904-KG00 Blanking plate for unused stations (supplied with gasket)

9
13

0

55
20

,5
 

10
,5

5.

1.

3.
25

10
 

55
 

76

98

46

13,5 1110
10,5



6/09 Our policy is one of continued research and development. We therefore reserve the right

to amend, without notice, the specifications given in this document.
N/en 5.1.355.13

®®
Valve island VS26M modular

Dual pressure

Pressure 1

Pressure 1 Pressure 2

Pressure 2

P
re

ss
u

re
3

P
re

ss
u

re
4

Blanking disk kit Description

V70522-K00 Suitable for ports 1, 3 and 5

Multi pressure configurations

A B
Intermediate supply/exhaust manifold (ISEM) Description

VS2672902-BG00 G 1/4

VS2672902-RG00 1/4 NPT

Multi pressure

A

A

1

A B C

B

A

Sandwich plate with additional port 1 Description

VS2672928-KG00 G 1/4

VS2672929-KG00 1/4 NPT

C



6/09Our policy is one of continued research and development. We therefore reserve the right

to amend, without notice, the specifications given in this document.

®®

N/en 5.1.355.14

Valve island VS26M modular

Interface module
Model: 0252420

1

2

53
4

Connector pins

End plate with IR communication

*1) Imax = 10 mA + n*60 mA
n = number of energized solenoids

Note: Zero voltage are galvanically isolated!

Power connector: M12, 5-pin

Pin Function Tolerance Max.

no. current

1 24 VB logic circuit supply ±25% 100 mA

2 24 V valves – *1)

3 0 V – –

4 0 V valve – –

5 Earth – –

29

127

18

89
,5

104,5

31
,5

M12

Accessories

1
9

3
9

1
8

5
9
,5

130

119 5,5

29

2
0

~52,5

M
1

2
 x

 1

35

~
2

7
,5

M
1

2
 x

 1

2
0

4
5
°

Connector, straight
M12 x 1, 5 pin, female, A coded
Model: 0252563

Connector, 90°
M12 x 1, 5 pin, female, A coded
Model: 0252543

Connector, 90°
M12 x 1, 5 pin, female, A coded with
5 m cable
Model: 0250081

M12 x 1, 5 pin, female, A coded with
10 m cable
Model: 0250472

The interface module is used to connect
the Norgren valve island to the
SIEMENS ET200pro.

The existing right hand end plate of the
SIEMENS ET200pro must be replaced. 

An ET200pro assembly fitted with the
interface but no valve island will also
function correctly



6/09 Our policy is one of continued research and development. We therefore reserve the right

to amend, without notice, the specifications given in this document.
N/en 5.1.355.15

®®
Valve island VS26M modular

W
o

rk
s
h

e
e
t 

V
S

2
6
M

 S
e
ri

e
s
 (

P
le

a
s
e
 m

a
rk

 t
h
e
 c

o
rr

e
s
p
o
n
d
in

g
 b

o
x
e
s
 a

n
d
 f

a
x
 t

h
e
 s

h
e
e
t 

to
 N

o
rg

re
n
 c

u
s
to

m
e
r 

s
e
rv

ic
e
)

P
a
rt

 n
o

 o
f 

c
o

n
fi

g
u

re
d

 v
a
lv

e
 i

s
la

n
d

:

V 
S

 2
6

 M
  

_
_

  
_

_
  

_
_

  
_

_
  

_
_

  
_

_
  

_
_

 

(T
hi

s 
lin

e 
w

ill
 b

e 
fil

le
d 

ou
t 

by
 N

or
gr

en
)

In
 c

as
e 

of
 r

ep
re

at
 o

rd
er

, 
pl

ea
se

 in
di

ca
te

 o
nl

y 
th

is
 n

um
be

r.

C
u

s
to

m
e
r:

C
o

n
ta

c
t:

P
h

o
n

e
:

F
a
x
:

O
rd

e
r 

n
o

.:

Q
u

a
n

ti
ty

:

D
a
te

:

A
d

d
it

io
n

a
l 

a
c
c
e
s
s
o

ri
e
s
 /

 N
o

te
s
:

V
a

lv
es

G
 =

 G
la

nd
le

ss

sp
oo

l &
 s

le
ev

e

S
 =

 s
of

ts
ea

l s
po

ol

P
le

as
e 

en
te

r 
co

rr
es

po
nd

in
g

le
tt

er
 in

 t
he

 b
ox

es

B
a
s
e
 a

c
c
e
s
s
o

ri
e
s

(o
pt

io
na

l)

S
a
n

d
w

ic
h

 p
la

te
s

(o
pt

io
na

l)

S
u

b
-b

a
s
e
 p

o
rt

 s
iz

e

P
il
o
t 

su
p

p
ly

�
In

te
rn

al

�
Ex

te
rn

al

�
M

ix
ed

 (p
le

as
e 

sp
ec

ify
 in

 n
ot

es
)

M
a

n
u

a
l 

o
ve

rr
id

e

�
P

us
h 

on
ly

�
P

us
h 

&
 t

ur
n

�
Ex

te
nd

ed
, 

pu
sh

 o
nl

y

�
M

ix
ed

 (P
le

as
e 

sp
ec

ify
 in

 n
ot

es
)

E
n

d
 p

la
te

 k
it

�
G

3
/8

�
N

P
TF

 3
/8

 

P
o
w

er
 s

u
p

p
ly

�
W

ir
ea

bl
e 

co
nn

ec
to

r,
 s

tr
ai

gh
t

�
W

ir
ea

bl
e 

co
nn

ec
to

r,
 9

0
°

�
C

on
ne

ct
or

, 
9
0
° 

w
ith

 5
 m

 c
ab

le
 le

ng
th

�
C

on
ne

ct
or

, 
9
0
° 

w
ith

 1
0
 m

 c
ab

le
 le

ng
th

A
cc

es
so

ri
es

�
M

an
ua

l o
ve

rr
id

e 
se

t-
up

 k
it:

 q
ua

nt
ity

: 
–

–
–

–

G
S

1
2

3
4

5
6

7
8

9
1

0
1

1
1
2

1
3

1
4

1
5

1
6

X X X X X X

X
X

X
X

X X
X

X
X

G
1
/4

N
P

TF
1
/4

P
IF

1
0
 m

m

P
IF

8
 m

m

P
IF

3
/8

S
ta

ti
o

n

2
x2

/2
 S

ol
/S

pr
in

g 
N

C

2
x2

/2
 S

ol
/S

pr
in

g 
N

O

2
x2

/2
 S

ol
/S

pr
in

g 
N

O
/N

C

2
x3

/2
 S

ol
/S

pr
in

g 
N

C

2
x3

/2
 S

ol
/S

pr
in

g 
N

O
 (

5
/3

 C
O

P
)

2
x3

/2
 S

ol
/S

pr
in

g 
N

O
/N

C

5
/2

 S
ol

/S
pr

in
g

5/
2 

S
ol

/S
ol

5
/2

 S
ol

 (
pr

io
ri

ty
 s

id
e 

1
4
)/

S
ol

5
/3

 A
P

B
 S

ol
/S

ol

5
/3

 C
O

E 
S

ol
/S

ol

In
te

rm
ed

ia
te

 s
up

pl
y/

Ex
ha

us
t 

m
od

ul
e 

G
1/

4

In
te

rm
ed

ia
te

 s
up

pl
y/

Ex
ha

us
t 

m
od

ul
e 

 N
PT

F1
/4

B
la

nk
in

g 
pl

at
e

Pr
es

su
re

 r
eg

ul
at

or
, p

or
t 

1

Pr
es

su
re

 r
eg

ul
at

or
, p

or
t 

2

Pr
es

su
re

 r
eg

ul
at

or
, p

or
t 

4

Pr
es

su
re

 r
eg

ul
at

or
, p

or
ts

 2
 +

 4

Fl
ow

 r
eg

ul
at

or
, p

or
ts

 3
 +

 5

Sa
nd

w
ic

h 
pl

at
e 

w
ith

 a
dd

iti
on

al
 p

re
ss

ur
e 

po
rt

 1
 (G

1/
4)

S
an

dw
ic

h 
pl

at
e 

w
ith

 a
dd

iti
on

al
 p

re
ss

ur
e 

po
rt

1 
(N

PT
F1

/4
)

B
la

nk
in

g 
di

sc
s

(o
pt

io
na

l)

P
or

t
1

P
or

t
3

P
or

t
5

*1
) 

Fo
r 

us
e 

on
 e

ve
n 

st
at

io
ns

 o
nl

y

S
o

ft
 s

ta
rt

 d
u

m
p

 v
a
lv

e
*1

)



6/09Our policy is one of continued research and development. We therefore reserve the right

to amend, without notice, the specifications given in this document.

®®

N/en 5.1.355.16

Valve island VS26M modular

A

C

A

B

11

12

13

14

Sub-bases and end plates (without PCB’s)

including screws and gaskets

Electronic components

A – End plate kit

C - Single station modular sub-base
Use 2 x single sub-baseB - Double station modular sub-base

11 Torque = 1,0...1,1 Nm

Screw driver speed = max. 1100 r.p.m.

Note: Never plug port 82/84. Plugging this port will cause vales to malfunction.
For detailed assembly instructions, please see maintenance & instruction booklet.

Model Description Ports Ports

1, 3 + 5 12/14 + 82/84

VS2672501-CGHO End plate kit G3/8 G1/8

VS2672501-SGHO End plate kit NPTF3/8 NPTF1/8

Model Ports

2 + 4

VS2672502-BGF0 G1/4

VS2672502-RGF0 NPTF1/4

VS2672502-YGF0 PIF10 mm

VS2672502-8GF0 PIF8 mm

VS2672502-2GF0 PIF3/8

Model Ports

2 + 4

VS2672503-BGF0 G1/4

VS2672503-RGF0 NPTF1/4

VS2672503-YGF0 PIF10 mm

VS2672503-8GF0 PIF8 mm

VS2672503-2GF0 PIF3/8

Model Position Description Quantity per double

sub-base

02522810 14 Output board for 2 stations 1

Model Description Quantity per island

59.05697 12 IR-Interface complete 1

VS2672758-KG00 13 Electrical port kit (M12 x 1) 1

Sub-bases and end plates (without PCB’s) for SIEMENS profile rail



6/09 Konstruktionsänderungen vorbehalten N/en 5.1.355.17

®®
Valve island VS26M modular

A

C

B

A

11

12

13

14

Sub-bases and end plates (without PCB’s)

including screws and gaskets

A – End plate kit

C - Single station modular sub-base
Use 2 x single sub-baseB - Double station modular sub-base

Note: Never plug port 82/84. Plugging this port will cause vales to malfunction.
For detailed assembly instructions, please see maintenance & instruction booklet.

Model Description Ports Ports

1, 3 + 5 12/14 + 82/84

VS2672501-CGHO End plate kit G3/8 G1/8

VS2672501-SGHO End plate kit NPTF3/8 NPTF1/8

Model Ports

2 + 4

VS2672502-BGF0 G1/4

VS2672502-RGF0 NPTF1/4

VS2672502-YGF0 PIF10 mm

VS2672502-8GF0 PIF8 mm

VS2672502-2GF0 PIF3/8

Model Ports

2 + 4

VS2672503-BGF0 G1/4

VS2672503-RGF0 NPTF1/4

VS2672503-YGF0 PIF10 mm

VS2672503-8GF0 PIF8 mm

VS2672503-2GF0 PIF3/8

11 Torque = 1,0...1,1 Nm

Screw driver speed = max. 1100 r.p.m.

Electronic components

Model Position Description Quantity per double

sub-base

02522810 14 Output board for 2 stations 1

Model Description Quantity per island

59.05698 12 IR-Interface complete 1

VS2672758-KG00 13 Electrical port kit (M12 x 1) 1

Sub-bases and end plates (without PCB’s) for module mounting


